Q BUSCH-JAEGER

v

SMART SWITCH ROCKERS
PEP ecopassport®
Product Environmental Profile

eco
PASS
PORT.

Product Environmental Profile - PEP Ecopassport.
Document in compliance with ISO 14025: 2006 "Environmental labels and declarations. Type Ill environmental declarations"

ORGANIZATION

ABB EU

ADDRESS

CONTACT INFORMATION
Pia Denninghoff, pia.denninghoff@de.abb.com

WEBSITE

ABB AG BUSCH-JAEGER Freisenbergstr. 2 58513 Liidenscheid DEUTSCHLAND | abb.com

STATUS

Approved

SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Public ABBG-00495-V01.01-EN len 1/11




PEP ecopassport®

@ ABB Purpose & Embedding Sustainability

ABB is committed to continually promoting and embedding sustainability across its operations
and value chain, aspiring to become a role model for others to follow.

With its ABB Purpose, ABB is focusing on reducing harmful emissions, preserving natural
resources and championing ethical and humane behavior.

f"i General Information

One BT control element 1 gang Smart Switch Rocker 6735 BT-885
2CKA006730A0150 and its primary packaging

Reference product

Rocker for Smart Switch Single Rocker black matt . The main function of
Smart Switch Rocker product is to protect people for 20 years against direct
contact with live parts of the electrical switch.

Description of the product

Protect people for 20 years against direct contact with live parts of the
electrical switch. The reference service life of the product is 20 years.

Functional unit

The remaining products covered by the PEP are presented in the table
"General characteristics of all variants of products covered by the PEP".

Other products covered

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1len 2/11




PEP ecopassport®

anlll Constituent Materials

AN

45,2%

54,8%

0,0%

® Plastics 12,13 g ® Metals 0,00g ®Others 10,00 g

Total weight of Reference product with

22,13
packaging g
Plastics as % of weight Metals as % of weight Others as % of weight
Name and Weight% Name and Weight% Name and Weight%
CAS number CAS number CAS number
54,8 - Cardboard 45,2

PC -

RoHS and REACH compatability and other information about the products materials (i.e. halogen
free, recyclability).

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN len 3/11




PEP ecopassport®

o‘ral Additional Environmental Information

Manufacturing

Distribution

Installation

Use

End of life

Benefits and loads beyond the

system boundaries

The production of reference product (2CKA006730A0150) occurs at the BJE
factory located in Aue, Germany. The final product is assembled and packaged
at the BJE factory in Lidenscheid, which serves as the last logistic platform
for the reference product.

The distribution stage involves transporting the reference product from the
last logistic platform of BJE to its installation site. This transport scenario is
estimated based on the concentration of the market for the reference
product group, utilizing sales data for the products within that group.

During installation, the disposal of packaging was considered.

No energy consumption, no maintenance operations needed.

The end-of-life scenario for the reference product is created according to the
recommendations given in the PEP PCR-ed4-
EN-2021 09 06 document.

Benefits and loads beyond the system boundaries (Module D) have been
considered.

STATUS

Approved

SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Public

ABBG-00495-V01.01-EN len 4/11




PEP ecopassport®

&F Environmental Impacts

20 years
Reference lifetime

Other equipment family in accordance with:
Product category - PEP PCR-ed4-EN-2021 09 06

- PEP PSR 0005-ed3.1-EN-2023 12 08

No installation materials are required in the life cycle of the product.
Installation elements

No material and energy consumption occur during the use stage. No

Use scenario maintenance phase is planned for the Smart Switch Rocker.
q Europe

Geographical

representativeness

Technological representativeness
Technological

representativeness

SimaPro 9.6 and Ecoinvent 3.10
Software and database used

Energy model used

A specyfic BJE energy mix has been used.

Manufacturing
Non-applicable
Installation
Non-applicable
Use
Recycling of product and packaging (Europe).
End of life
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN len 5/11




PEP ecopassport®

Common base of mandatory indicators

% Environmental Impact per Life Cycle Stage of Reference Product

wDP | |
ADP —fossi| | KN

ADP —minerals & metals | IR
pocP I |

EP —terrestrial |
EP-marine I L
EP —freshwater NN |
AP
|

OoDP |
GWP - total | I
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
B Manufacturing ™ Distribution Installation MUse MEnNd of life

Environmental impact indicators

. . Manu- Distri- . End of Bene-
Indicator Unit Total . . Installation  Use . .
facturing bution life fits
GWP-total kg CO; eq. 1,15E-01 7,70E-02 9,13E-04 2,24E-02 0,00E+00  1,49E-02  -6,53E-03
GWP-fossil kg CO; eq. 1,15E-01 9,25E-02 9,12E-04 6,44E-03 0,00E+00  1,49E-02  -6,43E-03
GWP-biogenic kg CO;eq.  1,29E-04 -1,58E-02 1,53E-07 1,59E-02 0,00E+00  3,16E-06  -8,87E-05
GWP-luluc kg CO; eq. 2,81E-04 2,32E-04 2,09E-07 4,86E-05 0,00E+00  2,92E-07  -8,06E-06

GWP-fossil = Global Warming Potential fossil fuels
GWP-biogenic = Global Warming Potential biogenic
GWP-luluc = Global Warming Potential land use and land use change

kg CFC-11
ODP 1,90E-09 1,71E-09 1,86E-11 1,47E-10 0,00E+00 2,69E-11 -2,02E-10
eq.

ODP = Depletion potential of the stratospheric ozone layer

AP H+ eq. 3,60E-04 3,32E-04 1,51E-06 2,17E-05 0,00E+00  4,93E-06 -2,04E-05

AP = Acidification potential, Accumulated Exceedance

EP-freshwater kg P eq. 2,61E-05 2,26E-05 4,41E-08 3,30E-06 0,00E+00  8,52E-08  -2,39E-06
EP-marine kg N eq. 1,01E-04 7,40E-05 3,18E-07 1,27E-05 0,00E+00  1,39E-05  -4,27E-06
EP-terrestrial mol N eq. 8,23E-04 7,23E-04 3,42E-06 7,61E-05 0,00E+00  1,99E-05  -4,10E-05

EP-freshwater = Eutrophication potential, fraction of nutrients reaching freshwater end compartment
EP-marine = Eutrophication potential, fraction of nutrients reaching marine end compartment
EP-terrestrial = Eutrophication potential, Accumulated Exceedance

kg NMVOC
POCP 2,65E-04 2,36E-04 2,58E-06 1,93E-05 0,00E+00 7,24E-06 -1,82E-05

eq.

POCP = Formation potential of tropospheric ozone

ADP-minerals &

kg Sb eq. 7,46E-07 7,20E-07 2,70E-09 2,02E-08 0,00E+00  3,68E-09  -1,28E-08
metals

ADP-fossil Ml 2,02E+00 1,92E+00 1,26E-02 7,43E-02 0,00E+00 1,74E-02 -1,32E-01

ADP-minerals & metals = Abiotic depletion potential for non-fossil resources
ADP-fossil = Abiotic depletion for fossil resources potential

WDP m?eq. depr.  2,29E-02 2,00E-02 3,55E-05 2,85E-03 0,00E+00  6,97E-05  -1,50E-03

WDP = Water Deprivation potential

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN len 6/11




PEP ecopassport®

Common base of mandatory indicators

Inventory flows indicator — Resource use indicators

. . Manu- Distri- . End of Bene-

Indicator Unit Total . . Installation  Use . R
facturing bution life fits

PERE M] 5,88E-01 5,74E-01 1,26E-04 1,29E-02 0,00E+00  3,01E-04 -1,36E-02
PERM MJ 1,99E-01 1,99E-01 0,00E+00 0,00E+00 0,00E+00  0,00E+00  0,00E+00
PERT M] 7,86E-01 7,73E-01 1,26E-04 1,29E-02 0,00E+00  3,01E-04 -1,36E-02
PENRE M] 2,02E+00 1,92E+00 1,26E-02 7,43E-02 0,00E+00  1,74E-02 -1,32E-01
PENRM M] 4,36E-01 4,36E-01 0,00E+00 0,00E+00 0,00E+00  0,00E+00  -1,57E-02
PENRT M] 2,46E+00 2,35E+00 1,26E-02 7,43E-02 0,00E+00  1,74E-02 -1,47E-01

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials

PERM = Use of renewable primary energy resources used as raw materials

PERT = Total Use of renewable primary energy resources

PENRE = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials
PENRM = Use of non-renewable primary energy resources used as raw materials

PENRT = Total Use of non-renewable primary energy resources

Inventory flows indicator - Indicators describing the use of secondary materials, water, and
energy resources

. . Manu- Distri- . End of Bene-
Indicator Unit Total R . Installation  Use R R
facturing bution life fits
SM kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00  0,00E+00 0,00E+00
RSF MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
NRSF M] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00  0,00E+00 0,00E+00
FW m? 2,12E-03 2,03E-03 1,16E-06 9,73E-05 0,00E+00 -8,81E-06 -6,78E-05

SM = Use of secondary material

RSF = Use of renewable secondary fuels

NRSF = Use of non-renewable secondary fuels
FW = Use of net fresh water

Inventory flows indicator — Waste category indicators

. . Manu- Distri- . End of Bene-
Indicator Unit Total R X Installation  Use R R
facturing bution life fits
Hazardous
A kg 2,81E-03 2,41E-03 1,03E-05 2,54E-04 0,00E+00  1,32E-04  -1,03E-04
waste disposed
Non- hazardous
. kg 1,11E-01 6,18E-02 1,18E-04 9,59E-03 0,00E+00 3,92E-02 -4,83E-03
waste disposed
Radioactive
X kg 1,73E-06 1,60E-06 2,36E-09 1,19E-07 0,00E+00  5,04E-09  -4,14E-07
waste disposed
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 7/11




Common base of mandatory indicators

Inventory flows indicator — Output flow indicators

PEP ecopassport®

. . Manu- Distri- . End of Bene-
Indicator Unit Total . . Installation  Use . R
facturing bution life fits
Components for re-
kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
use
Materials for
. kg 1,04E-02 1,85E-03 0,00E+00 8,54E-03 0,00E+00 0,00E+00 0,00E+00
recycling
Materials for energy
kg 7,48E-03 6,23E-04 0,00E+00 1,20E-03 0,00E+00 5,65E-03 -1,68E-05
recovery
Exported energy MJ] 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00  0,00E+00 0,00E+00
Inventory flow indicator - other indicators
. . Manu- Distri- . End of Bene-
Indicator Unit Total . . Installation  Use R R
facturing bution life fits
Biogenic carbon
content of the kg of C 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00  0,00E+00 0,00E+00
product
Biogenic carbon
content of the
. kg of C 8,62E-03 8,62E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
associated
packaging
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE
Approved Public ABBG-00495-V01.01-EN len 8/11




PEP ecopassport®

Optional indicators

Environmental indicators

. . Manu- Distri- . End of Bene-
Indicator Unit Total . . Installation  Use . R
facturing bution life fits
Total use of
primary energy
X i M3] 3,24E+00 3,12E+00 1,27E-02 8,72E-02 0,00E+00  1,77E-02  -1,61E-01
during the life
cycle
Emissions of incidence
X A 3 3,65E-09 3,28E-09 7,14E-11 1,94E-10 0,00E+00  1,02E-10  -1,03E-10
fine particles of diseases
lonizin
'zing kBq U235
radiation, 9,28E-03 8,79E-03 9,50E-06 4,67E-04 0,00E+00  2,02E-05  -1,62E-03
eq.
human health 4
Ecotoxicity
CTUe 9,33E-01 7,90E-01 2,59E-03 1,06E-01 0,00E+00  3,34E-02  -1,85E-02
(fresh water)
Human toxicity,
car-cinogenic CTUh 2,63E-10 2,30E-10 5,45E-12 1,79E-11 0,00E+00  8,70E-12 -1,36E-11
effects
Human toxicity,
non-
. . CTUh 1,00E-09 8,42E-10 9,48E-12 1,05E-10 0,00E+00  4,44E-11  -2,94E-11
carcinogenic
effects
Impact related
to land use/soil 1,78E+00 1,72E+00 9,94E-04 5,38E-02 0,00E+00  4,82E-03  -1,29E-02
quality
Other indicators
. . Manu- Distri- . End of Bene-
Indicator Unit Total . . Installation  Use R R
facturing bution life fits
No Other
indicators used
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1len 9/11




PEP ecopassport®

Extrapolation Factors

The LCA calculations were made for all representative products of products' variations groups.
Based on LCA results extrapolation factors can be obtained for each individual environmental in-
dicator. Thus, the extrapolation factors are calculated as a simple ratio of the indicator’s value of
representative product of products’ variations groups to the value obtained for the reference

product LCIA. The values of extrapolation factors for total impact score, manufacturing, distribu-
tion, installation, use and end of life stages and Module D are listed

Based on the LCIA calculations, most environmental indicator values for each life cycle phase for
each product from product family, can be calculated using the following formula:

y=a*x
Where:

* yis the score of chosen environmental impact category
s ais the extrapolation factor (slope of linear function)
*  ¥pis the score of chosen environmental impact category of the reference product

Values of '‘Biogenic carbon content of the product’ environmental impact category, for total score
and manufacturing life cycle phase for products containing bio-based PC, as well as “Secondary
materials for products containing secondary materials, can be calculated using the following for-
mula:

y=a+*x;+bh
Where:
s yis the score of chosen environmental impact category
+ ais the extrapolation factor (slope of linear function) from

*  X;is the score of chosen environmental impact category of the reference product
+ bis the extrapolation factor (y-intercept of linear function)

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 9/11




PEP ecopassport®

Extrapolation Factors

General characteristics of all product variations covered by the PEP

Variation Product code Product type Material Design name
01 2CKA006220A0990 6735-11-866 Standard PC Future linear, 1g
2CKADDO6220A0985 6735-11-81
2CKADOB220A0986 6735-11-82
2CKADDG220A0987 6735-11-83
2CKAQDG220A0991 6735-11-884
2CKADD6220A0992 6735-11-885
02 2CKAQOGT30A0150 6735 BT-885 Standard PC Future linear, 2g
2CKADQOET30A0142 6735 BT-B1
2ZCKADDGBT30A0143 6735 BT-82
2CKADDBT3I0A0144 6735 BT-83
2CKADOGT30A0148 6735 BT-866
03 2CKAQ006T30A0133 6736 FoH-81 Standard PC Future linear, 2g
2CKAOO6T30A0134 6736 FoH-B2
04 2CKAQOG730A0141 6736 FoH-885 Standard PC Future linear, 2g
2CKAODGT3I0A0140 6736 FoH-884
05 2CKAQOG730A0135 6736 FoH-83 Standard PC Future linear, 2g
06 2CKAO06730A0139 6736 FOH-866 Standard PC Future linear, 2g
o7 2CKA00G730A0145 6735 BT-84 Bio-based PC Future linear, 1g
2CKAODGBT3I0A0149 6735 BT-884
o8 2CKAQ06730A0164 6735/10-84 Bio-based PC Future linear, 1g
09 2CKA006220A0988 6735-11-84 Bio-based PC Future linear, 1g
10 2CKADO6730A0136 6736 FoH-84 Bio-based PC Future linear, 2g
1 2CKAQ06T30A0165 6736/10-84 Bio-based PC Future linear, 2g
12 2CKAQ01751A3413 6735 BT-44G Recycled PC (93%0) Art-linear, 1g
2CKAOD1I751A3414 6735 BT-44M
13 2CKAO006220A0994 6735-11-44M Recycled PC (93%) Art-linear, 1g
2CKADODG6220A0993 6735-11-44G
14 2CKAQ06730A0166 6736 FoH-44G Recycled PC (93%6) Art-linear, 2g
2CKAOD6730A0167 6736 FoH-44M
15 2CKA006220A0996 6735-11-45M Recycled PC (98%) Art linear, 1g
16 2ZCKAOQ01751A3416 6735 BT-45M Recycled PC (989%) Art linear, 1g
I7 2CKAQOG730A0169 6736 FoH-45M Recycled PC (989%) Art linear, 2g
18 2CKA006220A0984 6735-11-914 Standard PC Balance, 1g
19 2CKAOQ06T30A0151 6735 BT-914 Standard PC Balance, 1g
20 2CKAQOBT730A0152 6736 FoH-914 Standard PC Balance, 2g
21 2CKAOQ06730A0162 6735/10-914 Standard PC Balance, 1g
22 2CKAOQOGT30A0163 6736/10-914 Standard PC Balance, 2g
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved

Public

ABBG-00495-V01.01-EN

1len 9/11




Extrapolation Factors

Values of ‘a’ scaling factor to calculate total environmental impact score for all products’
family in alternative life cycle scenario.

.

PEP ecopassport®

- VARIATION
Impactcategory | 01 |02fref)| 03 | 04 | o5 | 06 | 07 | 08 | 09 | 10 | 12 | 12 | 13 | 14 | 15 |16 | 27 | 18 | 19 | 20 | 21 | 22
GWP-total 075 | 200 |o8a| 116| 117 | 109|064 | 057 | 0,64 | 0,70 | 062 | 035 | 0,77 | 050 | 0,71 |059| 071 | 064 | 0,83 | 0,78 | 0,74 | D70
GWP-fossil 075 | 200 |o8a| 116|117 | 109|075 | 068 | 0,76 | 0,86 | 0,78 | 035 | 0,78 | 0,50 | 0,71 |059| 0,72 | 065 | 0,82 | 0,77 | 0,73 | 068
GWP-biogenic 048 | oo | 036|137 1,58 | 1,16 | -101 | -99,0| -101 | -140 | -138 | 0,85 | -0,32 | -0,76 | -0,70| 1,26 | 0,49 | -257 | 268 | 2,26 | 4,23 | 381
GWP-luluc 045 | oo | 046|101 | 101 | 1,00| 045|025 | 045 | 0,46 | 0,26 | 0,14 | 112 | 0,41 | 1,11 |0,77| 1,04 | 048 | 521 | 485 | 500 | 468
ODP 084 | 200 | 092|118 119 107|084]| 073|084 093|081 027| 061|046 055|041| 05| 080]087]083]07|o070
AP 051 | 200 | 055|130 112 | 103|050 | 040] 051] 055] 044|018 095 | 035|093 |073| 090 051 ] 060 057 | 049 | 046
EP-freshwater 042 | 200 |042| 104|105 |099|041]|022]041]|042]|022|017| 1,18 044 | 1,17 |08a| 1,11 | 057 | 061 | 0,60 | 041 | 040
EP-marine 071 | 200 | 078|113 114 |107|073]|058)]| 073]| 079]| 064|038 094| 062|089 |067| 088|066 082]078] 066|062
EP-terrestrial 0,65 1,00 070|112 | 113 | 104|065 | 051 | 065 )| 0,70 | 056 | 0,23 | 0,86 | 0,44 | 083 | 061 082 | O61 | 0,72 | 0,69 | 0,57 | 0,54
POCP 064 | 200 | 068 | 1,15 1,17 [ 1,04| 063 ]| 050 | 063 | 0,68 | 0,54 | 0,27 | 0,92 | 0,50 | 0,88 |0,67| 0,89 | 064 | 0,72 | 069 | 056 | 0,53
ADP-minerals 015 | 200 | 014|102 102 | 098|014 ]| 009 | 014 | 014009 008 1,27 | 016 | 1,26 | 1,07| 1,16 | 0,16 | 0,16 | 0,15 | 0,11 | 0,10
ADP-fossils 080 | 200 | 089|116 | 1,17 |109| 064|058 )| 064|071 065]| 019|053 | 030|048 |038| 048|069 088083081075
WDP 075 | 200 | 080|118 123|107|074]|060]| 074|080 066|023 072| 046|069 050|073 078]052]051]037]|036
PERE 08 | 200 (096|108 108 | 107|089 | 065 089|096 | 072|056 1,00 091|093 |062| 093|060 147 1,39 1,23 115
PERM 09 | o0 | 097|102 102 | 102|257 ]| 206]| 257|282 231|03a| 102|098 101 |037] 1,01 ] 098 | 096 | 096 | 0,04 | 0,08
PERT 091 | 200 | 096|107 107 | 106|131 ]| 100] 1,31 | 143|112 | 050 | 101 | 0,93 | 095 |056| 0,95 | 0,70 | 1.3 | 1,28 | 1,03 | 097
PENRE 080 | 200 | 089|116 1,17 | 1,09 | 060 | 0,54 | 0,60 | 067 | 0.61 | 0,29 | 0,53 | 0,30 | 0,48 |0,38| 0,48 | 069 | 0,88 | 083 | 0,81 | 0,75
PENRM 093 | oo | 113|127 | 130 114| 026|026 | 0,26 | 0,29 | 0.28| 0,19 | 0,19 | 0,26 | 0,13 |0,14| 0,20 | 0,73 | 1,03 | 096 | 102 | 095
PENRT 08 | zo0 [093| 118|119 | 110|054 049 | 0,54 | 060 | 055|019 0,47 | 0,30 | 0,41 |0,34) 0,43 | 069 | 091 | 0,85 | 085 | O79
sm 1,00 | zoo | 100 1,00 100 | 1,00 1,00 1,00 100 2,00 | 1,00 | 2,00 | 1,00 | 1,00 | 200 | 1,00 1,00 | 1,00 | 1,00 | 100 | 1,00 | 1,00
RSF 100 | 200 | 1,00| 1,00 1,00 | 1,00 1,00 1,00 | 1,00 | 1,00 1,00 | 1,00 | 1,00 | 1,00 | 1,00 | 1,00]| 1,00 | 1,00 | 1,00 | 1,00 | 1,00 | 1,00
NRSF 100 | 200 | 100 100| 100 | 100 1,00 1,00 | 100 00| 1,00 1,00 | 1,00 | 1,00 | 1,00 | 000 1,00 | 1,00 | 100 | 1,00 | 1,00 | 1,00
W 08 | 200 | 101|115 116 | 112|089 | 083 | 089 | 1,00 095|088 | 1,00 | 1,06 | 087 |0,89| 0,98 | 0,26 | 0,94 | 0,88 | 088 | 082
HWD 039 | 200 | 040|106 1,07 [ 100|039)]| 026 | 039 | 040 027|024 1,21 046 | 1,20|093| 1,14 | 0,42 | 0,45 | 0,44 | 030 | 0,29
NHWD 08 | 200 | 102|129 134 113| 093] 08 | 093] 1,08 |097| 2,01 122 | 126|110 |203] 1,19 | 058 | 252 | 235 | 245 | 2,28
RWD 033 | 200 | 031|104 105 |098|030]|017] 030 030]017|015| 121 035|120]|093] 1,13] 073 ] 084] 079 069 | 065
CRU 1,00 | oo | 1,00| 1,00 1,00 | 1,00 1,00 | 1,00 | 100 | 1,00 | 1,00 | 1,00 | 100 | 1,00 | 1,00 | 1,00]| 100 | 100 | 1,00 | 100 | 1,00 | 1,00
MFR 100 | 200 |0380 | 095| 09 |091|082]|038|082]082|038|032]|087]|09% |08 |032]|089]|085]| 091|090 |04 |04
MER 098 | 200 | 118|129 131 |123|110] 102 ] 110|124 | 116 1,18 | 1,30 | 1.43 | 1,15 | 106| 1,21 | 0,82 | 1,07 | 1,01 | 099 | 093
EE 1,00 | 200 | 1,00| 1,00 1,00 | 1,00 1,00 1,00 | 100 | 1,00 | 1,00 | 1,00 | 100 | 1,00 | 2,00 | 1,00| 100 | 100 | 1,00 | 100 | 1,00 | 1,00
Biogenic €, product | 1,00 | 200 | 1,00 | 1,00 | 1,00 | 1,00 100 1,00 | 1,00 | 1,00 | 1,00 | 1,00 | 100 | 1,00 | 1,00 | 1,00| 100 | 100 | 100 | 100 | 1,00 | 1,00
Biogenic C, packlgingi 0,99 1,00 099|101 101 |101|099]| 023|099 ]099]|0,23| 017 ]| 1,01 | 099 | 1,00 |0,18] 1,00 | 0,99 | 0,99 | 099 | 0,23 | 0,22
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE
Approved Public ABBG-00495-V01.01-EN 1len 9/11




PEP ecopassport®

Extrapolation Factors

.

Values of ‘a’ scaling factor to calculate environmental impact score of manufacturing stage

for all products’ family in alternative life cycle scenario.

- VARIATION

Impact category 01 |02 (ref.) 03 04 05 06 07 08 09 10 11 12 13 14 15 1s 7 i8 13 20 21 22
GWP-total 0,62 1.00 0,71 1,16 116 1,08 0,46 0,50 0,46 0,50 0,54 0,15 0,59 0,14 0,53 0,54 0,52 0,51 0,73 0,67 0,76 0,70
GWP-fossil 069 | 1,00 076 | 113 | 113 | 106 | 070 | 063 | 0,70 | 078 | 071 | 017 | 066 | 029 | 062 | 050 | 060 | 060 | 0,76 | 071 | 068 | 064
GWP-biogenic 1,00 | 100 1,00 | 100 | 100 | 200 | 183 | 125 | 18 | 215 | 158 | 030 | o1 | 102 | 100 | o30 | 101 | 103 | 099 | 099 | 040 | 040
GWP-lulue 0,34 1,00 0,35 1,01 1,02 1,00 0,34 0,20 0,34 0,35 0,22 0,11 1,15 0,28 1,14 0,87 1,05 0,38 6,10 5,66 5,97 553
ODP 082 | 100 091 | 119 | 1,20 | 108 | 082 | 0,74 | 082 | o091 | 084 | 024 | 05 | 039 | o050 | 041 | 054 | 078 | 08 | o8L | 077 | 072

AP 047 100 0,50 1,10 1,12 1,03 0,46 0,39 0,46 0,50 0,43 0,15 0,54 0,28 0,92 0,75 0,88 0,48 0,57 0,54 0,48 045
EP-freshwater 034 | 100 033 | 1,04 | 105 | 098 | 032 | 018 | 032 | 033 | 018 | 015 | 120 | 035 | 120 | 092 | 1,12 | o050 | os6 | 058 | 041 | 039
EP-marine 0,61 1,00 0,65 1,12 133 1,04 0,63 0,51 0,63 0,66 0,55 0,19 0,85 0.38 0,82 0,63 0,80 0,57 0,73 0,70 0,61 0,57
EP-terrestrial 0,60 | 1,00 065 | 1,13 | 1,14 | 104 | 060 | 049 | 060 | 065 | 055 | 018 | 083 | 035 | o8 | 062 | 0,79 | 056 | 068 | 065 | 057 | 053
POCP 0,58 1,00 0,62 1,16 127 1,03 0,59 0,48 0,59 0,63 0,52 0,23 0,90 0,42 0,86 0.68 0.87 0,60 0,68 0,65 0.55 0,53
ADP-minerals 0,11 100 011 1,02 1,02 0,98 011 0,07 011 0,11 0,08 0,06 1,28 012 1,27 1.09 116 0,13 0,13 0,12 0,09 0,09
ADP-fossils 079 | 100 08 | 116 | 117 | 1,09 | 062 | 057 | o062 | o069 | 065 | 017 | 050 | 026 | 045 | 037 | 04as | 067 | 087 | 082 | 032 | 076
WDP 0,71 1,00 0,77 1,21 1,26 1,08 0,70 0,61 0,70 077 0,69 0,21 0,68 0,38 0,65 0,52 0,69 0,75 0,45 0,44 0,36 0,35
PERE 0,88 1,00 0,96 1,08 1,08 1,07 0,88 0,65 0,88 0,96 0,72 0,56 1,00 0,91 0,93 0,63 0,93 0,59 1,48 1,40 1,25 117
PERM 0% | 100 097 | 102 | 102 | 202 | 257 | 206 | 257 | 282 | 231 | 034 | 102 | 098 | 100 | 037 | 101 | 098 | 09 | 096 | 044 | 044
PERT 091 L00 0.96 LO7 107 1.06 132 1.0 .32 144 113 0,50 1.01 0.92 0,95 0.56 0.95 0.69 135 1.29 1,04 0,98
PENRE 0,79 1,00 0,88 1,16 1,17 1,09 0,58 0,53 0,58 0,65 0,60 0,17 0,50 0,26 0,45 0,37 0,45 0,67 0,87 0,82 0,82 0,76
PENRM 099 | 100 113 | 127 | 1,30 | 114 | 026 | 026 | 026 | 029 | 028 | 019 | 019 | 026 | 013 | 024 | 020 | 073 103 | 09 | 102 | 095
PENRT 083 | 100 09 | 118 | 120 | 120 | 052 | 048 | 052 | 058 | 054 | 017 | 044 | 026 | 039 | 033 | 041 | 068 | 0% | 083 [ 08 | 080
SM 1,00 1,00 1,00 1,00 1,00 1.00 1.00 1,00 1,00 1,00 1,00 1,00 1,00 1.00 1.00 1.00 1.00 1,00 1,00 1.00 1,00 1,00
RSF 1,00 1,00 1,00 1,00 1,00 1,00 1.00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
NRSF 100 | 100 1,00 | 100 | 2,00 | 200 | 100 | 200 | 100 | 2,00 | 200 | 100 | 100 | 200 | 200 | 200 | 100 | 200 | 200 [ 100 | 200 | 100
FW 0.89 100 1,01 1,16 1,17 1,13 0,88 0,85 0,88 1,01 0,98 0,91 1,09 1,06 0,97 0,92 0,98 0,23 0,94 0,87 0,90 0,84
HWD 0.30 1.00 0,29 1,05 1,06 0,98 0,29 0,19 0,29 0.29 019 0,17 1,23 0.33 1,22 0,98 115 0,33 0,35 0,34 0,24 0,23
NHWD 080 | 1,00 08 | 132 | 138 | 106 | 087 | og2 | 087 | o8e | o8 | o8 | 115 | 111 | 106 | 01 | 1,19 | 038 | 365 | 339 | 359 | 334
RWD 0,28 1,00 0,26 1,03 1,04 0,97 0,25 0,14 0,25 0,25 0,14 0,13 1,22 0.29 11 0,57 114 0,71 0,82 0,78 0,71 0,66
CRU 1,00 1,00 1,00 1,00 1.00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00

MFR 1,00 1.00 0,43 0,43 0,43 0,43 0,00 0,00 0,00 0,00 0,00 0,25 0,25 0.28 0,22 0,22 0,22 0,15 0,49 0,41 0,49 0,41
MER 070 | 1,00 075 | 126 | 131 1,15 | 218 | 204 | 218 | 140 | 1,25 | 061 1,19 | 080 | 108 | 091 1,16 | 08 | 072 | 069 | 057 | 054
EE 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
Biogenic C, product | 1,00 | 1,00 100 | 100 | 100 | 100 [ 100 | 200 | 200 | 1,00 | 100 | 100 | 100 | 100 | 100 | vo0 | 100 | 200 | 200 | Lo0 [ 100 | 1,00
Biogenic C, packaging| 099 | 1,00 099 | 100 | 100 | 100 [ 099 | 023 | 099 | 09 | 023 | 047 | 100 | 099 | 100 | 018 | 100 | 099 | 099 | 099 [ 023 | 022

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 9/11




PEP ecopassport®

Extrapolation Factors

.

Values of ‘a’ scaling factor to calculate environmental impact score of distribution stage
for all products’ family in alternative life cycle scenario.

- VARIATION

Impact category 01 |02 (ref) 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22
GWP-total 1,01 1,00 1,03 1,10 1,46 0,78 0,83 1,53 1,04 0,99 0,87 072 0,88 1,16 0,81 0.55 0,90 0,93 0.69 0.80 0,47 045
GWP-fossil 1,01 1,00 1,03 1,10 1,46 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0.69 0,80 0,47 0,45
GWP-biogenic 1,01 1,00 1,03 1,10 1,46 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0.55 0,90 0,93 0,69 0,80 0,47 045
GWP-lulue 101 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 072 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0,45
ODP 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0,45
AP 1,01 1,00 103 1,10 1,46 0,78 0,83 153 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0,45
EP-freshwater 1,01 1,00 1,03 1,10 1,46 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,50 0,93 0,69 [1R:1) 0,47 0,45
EP-marine 1.0 1,00 1,03 1,10 1.46 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,50 0,93 0,69 0,80 0,47 045
EP-terrestrial 10 1,00 1.03 1,10 1,46 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0.69 0,80 0.47 0,45
POCP 1,0 1.00 1.03 1,10 146 0,78 0,83 1,53 1.04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0.69 0,80 0.47 0,45
ADP-minerals 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1.04 0,99 0,87 072 0,88 116 081 0,55 0,90 093 0.69 0,80 0,47 0.45
ADP-fossils 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0,45
WDP 1,01 1,00 103 1,10 1,46 0,78 0,83 1,53 1,04 0,59 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0,45
PERE 1,01 1,00 103 1,10 1,486 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 045
PERM 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 0,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
PERT 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,599 0,87 0,72 0,88 116 0,81 0,55 0,90 0,93 0,69 0,80 0,47 045
PEMRE 101 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0.69 0,80 0,47 045
PENRM 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
PENRT 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0,69 0,80 0,47 0.45
SM 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
RSF 1,00 Loo 100 1,00 1.00 1,00 1,00 100 1,00 1,00 1,00 1.00 1,00 1,00 1,00 1,00 100 1,00 1,00 1,00 1,00 1,00
NRSF 1,00 1,00 1,00 1,00 100 1,00 1,00 1,00 1,00 1,00 1,00 1.00 1,00 1,00 1,00 1,00 1.00 1,00 100 1.00 1,00 1,00
FwW 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 072 0,88 1,16 0,81 0,55 0,90 093 0.69 0,80 0.47 0.45
HWD 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 072 0,88 116 0,81 0,55 0,90 0,93 0.69 0,80 0.47 045
NHWD 1,01 1,00 1,03 1,10 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 0,93 0.69 0,80 0,47 0,45
RWD 1,01 1,00 103 110 146 0,78 0,83 1,53 1,04 0,99 0,87 0,72 0,88 1,16 0,81 0,55 0,90 093 0,69 0,80 0,47 0,45
CRU 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
MFR 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 0,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
MER 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
EE 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1.00 1,00 1,00 1,00 1,00 1,00
Biogenic C, product 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00
Biogenic C, packaging| 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 100

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 9/11




Extrapolation Factors

.

PEP ecopassport®

Values of ‘a’ scaling factor to calculate environmental impact score of installation stage

for all products’ family in alternative life cycle scenario.

- VARIATION
Impacteategory | 08 |o3peid| o3 | oo | o8 [ o8 [ or | o | es | 1 | 1 | a2 | s [ wa [ 15| w | o | [ »w | 2| un| =
G'NP-tatal 100 108 111 1.0 047 047 035 .04 038 1,04 1,00 1,00 Ods 048
Gwrtonll 1,00 126 | 138 | 1oe a5t 058 | oar 115 aar | 1as ta | o | osd | msa
mb‘ﬂ'llﬁ'l Loo 100 1,00 1,00 044 0,482 o 1,00 om 1,00 100 100 043 043
G P-lulus .00 104 104 1,00 04 0,48 a3 1,00 3 L00 1,00 100 a43 043
oor Lo 10% 104 1,00 045 .45 [+ P 1,02 K7 .02 100 100 044 44
AP o0 105 o7 1,01 048 046 o34 1,03 034 109 1,00 100 045 £45
P-frashwatar Lo 1w | owoe | oo 045 nes | o L asz | um 100 | 10 | o4e | s
EP-marine Lo0 1os | wos | 00 04z a5 | 038 102 g | 1o 100 | 1oo | oax | nas
EP-terrmstroal .o 1o 106 1.M 48 0,46 033 1,03 033 1.0 1,00 L0 [ Y 045
1,000 106 1 1. [eF 1 0486 LT 1,08 05 103 1,00 106 [ .07 [ L
.00 108 113 1,01 048 048 O35 1,05 038 105 1,00 100 04T c47
AGP-fowils 1,00 s | w7 | im 046 s | o L as | uem 100 | o | ods | oas
woFr Lo 101 101 1.00 044 0,482 an Log om 1,00 1.00 100 o043 a3
PERE L.o0 104 L.06 1,1 045 056 o33 1,02 033 .00 1,00 100 045 0as
PEAM 100 1 | o 1,00 100 10 | v 100 1m | e 1 | 1w | Lo | Loe
FERT 100 vod | woe | um 045 tes. | o3 102 o | 1m voo | 100 | oss | as
PENRE L0 ] spo | V| g | aor | tor | V| oas | M0 ) B0 ) s | oona | M) gps [ Y| gme | aoa | Y| qp0 | 100 | ous | pas
FENREM L.00 1,08 100 1.00 100 L.00 100 1.00 140 1,00 1400 100 LoD L0oo
PENAT 1,00 105 807 101 048 0.46 a3 1,03 034 103 1.00 100 045 045
= 1w v | o 1,00 1.0 100 | woo 1,00 im | wo won | 10 | woo | noo
RSF .00 100 1,00 1,00 100 1400 100 1,00 100 100 1.00 100 100 100
MRSF il 100 .00 1.00 1,00 1400 1000 1,040 1,00 1,00 1,00 1400 1,00 1.00
il Lo 102 Lo 1.00 04s 0.8 (1B} ] LM LR | LMm 144 100 044 44
HWD o0 we | 1| 1m aar gar | oss 1,05 ak | 1= 100 | 100 | oar | oar
HHWD L | 532 | noe 05 053 | ous 114 a5 | L 1o | 1m | ost | nse
RWD 1.000 111 L1 1.02 04% .48 oaar 1,08 aar 1,08 141 1.m o4 048
(a2 F] oo 100 1,00 1,00 100 1400 100 1,00 100 1.00 1,00 1.00 1,00 1,00
MIR Lo 1,08 108 1.0 A 0.86 [LE1] LA [T 103 1440 100 0 [LE.1Y
MER 100 135 151 1.05 ass o0.58 sz 1,21 05 i 102 143 ass o.59
[ 1, wa | woe | woo 108 100 | v 1,00 oo | wee 1w | v | e | noo
Binpenia €, prodduse oo 1Lm L0O L0 100 140 100 1,00 1 L00 L0 100 100 LOC
Blogenic &, mechaging Lo voo | 2o | Loo L8 1w | v 100 1w | wee 100 | w0 | woo | Loo

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE
Approved Public ABBG-00495-VOLO1-EN 1len o/11




PEP ecopassport®

Extrapolation Factors

.

Values of ‘a’ scaling factor to calculate environmental impact score of end of life stage for
all products’ family in alternative life cycle scenario.

= VARIATION
Impact categary 01 |02 freff| 03 o ] o a7 o -] b1 ] n 12 13 14 15 16 17 18 13 z0 I Iz
FWP-totsl 100 | o0 L7 137 137 137 100 1,00 1,00 127 127 1,37 1,38 1,53 1,18 1,19 171 | a7 11z 104 11z 104
GWP-Fauil Lo0 | 100 L7 L7 117 137 100 .00 .00 | 137 137 1,37 1.38 1.53 110 119 1M .79 L1z Lo 117 104
W P-biogeniz 100 | 100 117 117 117 1y 1,00 1,00 1,00 127 127 L38 | 1,38 1,53 113 118 121 | 4. 112 1o 113 104
GWP-luluc 086 L LiF L7 LIF 1377 | o | o | 096 122 L2 1,33 1,38 1,48 1,149 118 1,3 0,79 LA 100 108 100
ooP 0986 | Lo 12 1.¥7 L) 137 | os6 | ose | ooe 132 12 1,13 1,38 1.48 114 1,18 1 | &M 108 1,00 148 100
ap 0.0 100 LIS 137 137 137 | o | o%k | 096 125 1,25 1,36 | 1,38 1,51 119 118 1.2 ] 110 103 110 103
EP-froshwater as? | 100 1.z4 17 L¥F 13 | ogr | asT | oor 124 124 1,34 1,38 1,50 1,18 1,19 1 | 4 109 a1 L 101
EP-maring 1,04 100 1LE7 137 117 117 1,00 1,00 5,00 137 127 1,38 1,38 1,54 (RL] 1,18 1,21 79 112 104 112 Lk
EF-tarrestrial 098 | 100 . ¥t 17 137 ]| 059 | 05% | 09 1.4 126 1,37 1,38 1,52 118 1,19 11 0.7 i 1038 111 108
POCP 0gg | 100 115 137 117 137 | ose | ose | ose 1.15 1,35 1,35 1,38 1,51 114 118 1.7 0,79 110 102 110 102
SUP-m|navaly 096 | 100 1.k L7 117 117 | 056 | o | 056 | 322 1 1,33 1,38 1.8 118 119 Ll | 4 108 100 108 100
ADP-fauils as6 | 100 113 137 137 137 | o9 | ass | 0596 112 1,12 1,33 1,38 1,48 1,18 1,18 1.71 .79 108 1.00 108 100
WP 08?7 | 1oa 14 1L 127 LI | 087 657 o7 124 1.4 154 | tae 1.50 114 114 1.4 0.7 1.4 102 i 102
FERE 038 | 100 114 137 117 177 | o= | 0% | Ds8 114 1,24 1,35 1,38 1,50 1,13 1,13 121 | o7 L0 10z 1,10 103
L 100 | 100 100 1400 100 100 100 | 100 | oL00 | 100 | 100 | 100 L) 1.0 Ly 1.00 140 100 100 100 140 100
PERT 098 | Loa L4 117 117 177 | 052 | o= | 058 114 L4 1,35 138 1,50 113 1,19 121 | 973 L10 1o 11 101
FinRE 096 | 100 Lik LEF LIF 137 | o%6 | o | 056 | 122 12 1,33 1.368 1,48 118 1,19 L1 .79 108 100 L8 100
PENRMA 100 | 100 100 100 1o 100 1,00 100 1,00 1,00 Lo6 | Loo 100 | 100 L00 1,00 100 1,00 Laa 1,00 Lad 100
PONET .86 104 Lk L7 L7 117 | 086 | 086 | 096 Ln 122 1.33 1.38 1,48 118 118 L L 106 LM 108 100
sm 100 | 100 100 100 1m0 100 1.00 100 1 1,00 1,00 Loo | Loo | 100 1,00 1,00 100 1.00 1,00 150 100 100
REF 100 | 108 100 .00 1.0 1.00 1.00 100 100 00 Lo 100 LoG | L0 1) 1,00 1040 140 10K 100 1.0 100
IRSF 100 | 100 100 100 100 100 100 1,00 1,00 L00 | 1,00 1,00 Lo¢ | 100 L. 1,00 100 100 1,00 100 100 100
P 1.04 100 LR L7 7 137 1.0 104 .04 1.8 124 1,38 1.38 1,56 1,18 1189 1.1 .79 L3 105 113 105
HWD 100 | 100 11 11 11 1y 1,00 1,00 1,00 1.1? Lar L3? 1,38 1,51 118 118 1: | 4 112 i L1l 104
NHWD 1.00 L) L37 137 LI7 137 1,00 1,00 1,00 137 1,37 1,38 1,38 1,54 1,18 1,19 1,31 0,79 112 104 1,17 104
RWD 0g8 | 100 124 137 1EF 137 | o5& | ood | OG5 1.4 1 L34 | 128 1,50 118 1,18 1 L] 18 182 18 103
CRU 100 | 100 1.00 100 100 100 1,00 1,00 1,00 1,00 1,00 104 104 1,00 1,041 1,00 1,00 1,00 1,00 100 100 100
MIFR 100 | 100 100 100 10 100 100 1,00 1,00 1 1 1,040 1,00 104t 1,01 1,00 1.4 145 100 100 140 140
MIER 100 | 108 137 137 117 127 1,00 1,00 1,00 137 127 1,38 1.38 1,54 118 1,19 121 | 078 112 104 11z 1
L1 100 | 100 100 100 1m0 100 100 100 100 | 00 | 100 LG | LOG | 100 114} 1,00 14 140 100 100 Lo0 100
Bisgenie C, predust | 100 | 100 100 1,00 100 100 1,00 1,00 1,00 1,00 1,00 L.00 | 100 | 1,00 1,00 1,00 1,00 1,50 1,00 109 100 100
Biagenie C, puckaping | 100 | 100 100 100 100 100 100 1,00 1.00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 1,00 100 100 100

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 9/11




PEP ecopassport®

Extrapolation Factors
Values of ‘a’ scaling factor to calculate total environmental impact score of Module D for
all products’ family in alternative life cycle scenario.

Impact category 0 |o2jeef)| o3 o a5 1 ar 08 o 1] 1 12 13 14 15 16 i) 13 18 2 n 3]
GWP-totsl Loe Li% L5 L 119 0,37 119 gt X eE] L6 1.58 L3 Li5 1.36 Q&S L1 LOS o7 10
GWPAasit Loe | 109 | iss | nes | nae 0,87 L1 | oot | ooz | vee | 158 | ozaz | 1as | 138 | oss | e | nos | sor | Lo

GWP-blogenic oo | naxe | oL | onwE | o1 0,96 128 | oo | ooo | wss | o1s2 | onar | onae | 1 | oo | onu | onma | o7 | Lm0
WP uluc Lo 1.1 143 | 48 | L1 0.96 Liz 00 e} 1.3 1,55 115 114 129 D& 111 1.05 L.ar 14
onP top | p19 | Ls7 | 1s8 | nee 0.87 119 | moe | oos | o6 | 158 | L3 | o1as | 138 | oss | w0 | tos | o7 | Lo
ap Lo0 | 1aé | e |18 | nie 0,97 116 | ooo | ooy | vs | tE2 | tax | L | 142 | omr | vio | ios | wor | poa
EPdrashaatar Lo L LAG 153 L3 0oy L2l o [Xei] L 1.56 Li5 114 131 QEL 111 LO5 Loz 1m
EP-tmarine to0 | 336 | Lm | nme| nas 087 116 | moo | oon | nzr | iE2 | san | 1a6 | 144 | o=m | v | nos | o7 | um
EP-tarrestrial oo | 3% | Ly | ame | nas 0,57 t1s | oo | oor | vz | 1sa | nan | onae | 145 | oem | 1ao | pes | wor | wnoa
FOCF Lo 135 L6 191 L5 0.98 L15 ] 03 L 1,64 L0 b 146 k-] L1 105 a7 103
ADP-minkrsl e | g1 | e |23 | wm 0,98 111 | moe | ooo | wis | 1Es | sos | e | 155 | os | wes | toe | 107 | Loa
ADP-fousils Loo | 118 | 160 [ ar1| pik 0,97 LI | nis | o | w2 | fse | Lad | 138 [ 18 | oms | 1i0 | oS | w07 | L2
Wop Low 111 1i4m 113 111 0.98 Li1 o X e] Li6 1.68 10E L1k 1,55 021 104 1.06 107 104
PERE oo | 13z | Lar | nas | 1m 0,56 172 | o2 | oo | ona 154 | 136 | 114 | 178 | oss | n11 | nos | o7 | um
FERM o0 | noo | voo | 300 | noo 1,00 1o0 | ooo | xoo | no0 | noe | noo | woo | 100 | noo | woe | oo | woo | Loo
FERT LoD 1.1 141 146 | LK .96 Liz 00 00 1,31 1,54 L& Lis 1.28 D& Lili 105 107 101
PENRE el 138 | ve |a7n | nss | M | oor | ™) w18 | 0as | ooe | w25 | weo | vem | 15 | 13 | oss | v | tos | ser | e
PENAM Loo | no0 | ras | zst | oo 10 Loo | o2 | oo | voo | tad | noo | oz | wed | w0 | 1o | nov | wor | oo
PFENET Lo 116 LE9 182 | L16 .97 L16 117 ooz Li 1.62 L11 L16 1.43 o 118 Lo5 a7 103
EE] toe | soo | Len | noo | ow LG 100 | noo | w00 | vos | o0 | oo | oo | teo | aoo | weo | oo | oo | Loo
R5F Lo0 | oo | veo 300 | noo Loe 10 | oo | oo | noe | o0 | noo | o0 | o0 | noo | oo | noe | uoo | Loo
NEST oo L0 14K 100 | Lo 100 100 i L 11 1,00 LG 100 1.0y 100 100 100 100 1
] oo | sa7 | uee | 17E | na7 0,87 117 | oo | oo | w23 | 16 | vae | 116 | 14 | omr | 1w | tes | o7 | Lo
MWD Loo | 1as | Lis [ am | nas 0,98 115 | ooo | ool | 120 | 154 | Lao | 117 | 146 | ome | Lo | 108 | w07 | Loa
HHWD Liw 1o L33 |"R6E | L Lo 10 o a0 103 1.80 .03 12 1.7 L] 1408 o7 107 107
RWD oo | 133 | 138 | 14z | am 096 23 | moo | ooo | na | 153 | s | 1aa | 128 | oEr | Lnn 1 | ooy | um
CRU o0 | Lo | peo | 300 | oo Loe o0 | moo | noo | noe | o0 | noo | noo [ roo | oo | oo | noo | aoo | noo
MR Log Lo0 L 100 | Lo 100 pEL 04 100 1,00 1,00 LG 100 1,00 100 LK} 1,00 1,00 1AM
MER oo | oso0 | ozaa | zEd | Lm0 106 oo | ooo | oo | too | 183 | noo | 122 | e | goo | o7 | toy | o7 | Lov
EE too | soo | voo 1o | too 100 o0 | oo | 100 | voo | 100 | noo | 1o0 | oo | too | tos | oo | oo | vLoo
Biogans €, produst Low 100 100 100 500 100 L0 o L0 L0 1,00 100 100 1,00 10 100 Lo0G 100 LD
Biogenic , packaging L L | Loo | 100 | Lo 1,06 Log | moe | o0 | voo | too | oo | o0 | oo | poo | woo | foo | no0 | Lo0
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1en 9/11




PEP ecopassport®

Extrapolation Factors

Values of ‘b’ extrapolation factor to calculate environmental impact score for products con-
taining bio-based PC - total and from manufacturing stage.

- VARIATION

Impact category 07 08 09 10 11

Biogenic C, product | 0,007 | 0,007 | 0,007 | 0,009 | 0,009

Values of ‘b’ extrapolation factor to calculate environmental impact score for products contain-
ing secondary materials - total and from manufacturing stage.

# VARIATION

Impact category 12 13 14 15 16 17

Secondary materials | 0,015 0,015 0,017 | 0,014 | 0,014 0,01

The remaining values are established as zero.

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN 1len 9/11




PEP ecopassport®

Environmental Impact Indicator Glossary

Impact indicators

. s s Distri-
Indicator Description .
bution
Indicator of potential global warming caused by emissions to air
contributing to the greenhouse effect. The total global warming
Global warming potential potential (GWP-total) is the sum of three sub-categories of ko CO. e
(GWP) - total climate change. 9502 €q.
GWP-total = GWP-fossil + GWP-biogenic + GWP- land use and land
use change
. Emissions to air that contribute to the destruction of the kg CFC-11
Ozone depletion (ODP) . g
stratospheric ozone layer eqg.
e . Acidification of soils and water caused by the release of certain
Acidification of soil and water K .
®*) gases to the atmosphere, such as nitrogen oxides and sulphur H+ eq.
oxides
Indicator of the contribution to eutrophication of water by the Ka P e
L. enrichment of the aquatic ecosystem with nutritional elements, g -
Eutrophication (E) ) . . . . kg N eq.,
e.g. industrial or domestic effluents, agriculture, etc. This
s s g . . mole N eq.
indicator is divided to three: freshwater, marine and terrestrial.
. . Indicator of emissions of gases that affect the creation of
Photochemical ozone creation . . kg NMVOC
photochemical ozone in the lower atmosphere (smog) because of
(POCP) eq.
the rays of the sun.
Depletion of abiotic resources — . . .
P Indicator of the depletion of natural non-fossil resources kg Sb eq.
elements (ADPe)

. c . . . . M3 (lower
Depletion of abiotic resources— The use of non-renewable fossil resources in an unsustainable heatin
fossil fuels (ADPf) way (e.g. from material to waste) 9

value)
Deprivation-weighted water consumption. Assesses the potential
Water Deprivation potential of water deprivation, to either humans or ecosystems, building on m? eq. depr
(WDP) the assumption that the less water remaining available per area, q. depr.
the more likely another user will be deprived.
Resource use indicators
. s e Distri-
Indicator Description .
bution
Total use of non-renewable primary energy resources (primary M3 (lower
. energy and primary energy resources used as raw materials) + .
Total use of primary energy N R heating
Total use of renewable primary energy re-sources (primary energy value)
and primary energy resources used as raw materials)
STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE
Approved Public ABBG-00495-V01.01-EN 1en 10/11




PEP ecopassport®

Registration number: ABBG-00495-V01.01-EN Drafting Rules: PCR-ed4-EN-2021 09 06

Supplemented by: PSR-0005-ed3.1-EN-2023 12 08
Verifier accreditation number: VHO08 Information and reference documents: WWWw.pep-ecopassport.org
Date of issue: 07-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025: 2006

Internal: O External: @

The PCR review was conducted by a panel of experts chaired by Julie ORGELET (DDemain)

PEP are compliant with XP C08-100-1 :2016 or EN 50693:2019 or NE E38-500 :2022
The components of the present PEP may not be compared with elements from any other program.

Document in compliance with ISO 14025: 2006 "Environmental labels and declarations. Type IlI
environmental declarations"

STATUS SECURITY LEVEL REGISTRATION NUMBER REV. LANG. PAGE

Approved Public ABBG-00495-V01.01-EN len 11/11




